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Note: The answer is for reference only, you need to understand all question.

QUESTION 1
An organization is using cloud storage to back up their employees’ desktop data. The backup
application running at the organization’s data center ensures moderate performance while backing

up data.
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The application completes the entire backup within the stipulated backup window. By leveraging
cloud storage service, the backup application meets high-availability and high-recoverability
requirements of employees’ data.

Based on the exhibit, which section accurately represents this application?
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Answer: C

QUESTION 2



Areas A, B, and C are three performance segments that represent demands of application
classes.
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Which application performance need is illustrated by Segment B in the exhibit?

A. Availability

B. Interoperability

C. Ease of management
D

. Throughput
Answer: A
QUESTION 3

Areas A, B, and C are three performance segments that represent demands of application
classes.
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Which application performance need is illustrated by Segment C in the exhibit?

Throughput
Availability

Interoperability
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Ease of management

Answer: A

QUESTION 4

A company's business operations depend on the following three applications:
A = Supply chain management

B = CAD/CAE (design)

C = e-Commerce

Which application classes are associated with these applications?

A. A=Enterprise;B=Workgroup; C=Externally networked
B. A=Externally networked; B=Workgroup; C=Enterprise
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